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I. 

8 × 1 = 8

1. p ( x ) = 2x  – 4 ( x – 2 ) 

 

 (A) 2 (B) – 2 

 (C) 0 (D) – 8. 

2. 2x  + 2x + 1 = 0  

 (A) 2   – 1 

 (B) – 2    1 

 (C) – 2   – 1 

 (D) 1  2. 

3. ( non-centre )

 

 (A) 90° 

 (B) 180° 

 (C) 45° 

 (D) 360°. 
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4. 154 

10  

 (A) 15·40  

 (B) 15400  

 (C) 1·540  

 (D) 1540  

5.  tan  =  
3

1
   cos  =  

2

3
 sin   

 (A) 3  

 (B) 
2

1
 

 (C) 
3

2
 

 (D) 
2

3
. 

6. ( 7  11  13 + 13 )  

 (A)  

 (B)  

 (C)  

 (D)  
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8.  

 

 (A) hrr )(
12

  

 (B) hrr )(
21

  

 (C) lrr )(
21

  

 (D) lrr )(
21

 . 

II.   6 × 1 = 6 

9. U =  { 1,  2,  3,  4,  5,  6 }    A =  { 2,  3,  4,  5 } A l   

10.  
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11. 42  nT
n

 
2

T   

12. 

 

13.  

14.  

III. 15.   A = { 1,  2,  3,  4 },  B = { 3,  4,  5,  6 }   C = { 6,  7 } 

( A   B )   C  =  A   ( B   C ). 2 

 16. 5 4 

 2 

 

  1    
5

1


 

   

 17. 5 – 3    2 

 18. )(5
34

PP nn   n   2 

 19.  A P ( A ) : P )( A  = 5 : 11 

P ( A ) P )( A   2 

 20. 

 2 

  a)  54,20,12,8  

  b)  43 32,54,50  

  c)  50,32,18,8 . 
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 21.  2 

  
35

35




 . 

 22. p ( x ) ( 2x – 1 ) 

)57( 2  xx   4 p ( x )  2 

 

   

   )3()5723( 23  xxxx .  

 23. A =  
4

3 2a
 A a 

A = 16 3    2 

 24. 2x  – 2x + 3 = 0   2 

 25.  XYZ  XY  P  PQ   XZ  XP = 4 XY = 16 

XZ = 24 XQ  2 

 

 26. 1cos2
tan1

tan1 2

2

2





A

A

A
 2 

 27.  ( 4,  – 8 )    ( 5,  – 2 )  2 
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 28. ( 2, 3 ) ( 4,  7 ) 

 2 

 29. : 

   [ 20   =  1  ] 

    D   

 150  

 100 C 70  

E 80 80  

 30 B 40 

 A   

      2 

 30. 3·5 6 

 2 

 31. A, B  C (A   B )   C 

 2 

 32. 1 + 2 + 4 + ............ 10  2 

 33.

  2 
    

 A B C 

 12 08 04 

 34. :  5012818  .  2 

 35.  
r

C5  = 10   
r

P5  = 60  r  2 
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 36. 01272  xx  2 

 37. 3 5 

 2 

 38. P ( x )  

 (i) ( x – a )  (ii) ( x + a )  2 

 39. 4 
2

21
 

 2 

 40. AB, BC  AC, O AB  = AC 

BQ = CQ  2 

 

IV. 41. 

45  3 

 

  n 
2

)3( nn
  

 42. ( C.V. ) : 3 

  40,  36,  64,  48,  52. 
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 43. 

 3 

 44.  LAW  LAW  = 90°,  LNA  = 90°, LW  =  26 LN  =  6 

AN  =  8 WA  3 

 

 

   MGN  MP   GN MG = a MN = b GP = c 

PN = d  

)(

)(

)(

)(

ba

dc

dc

ba









 .  

 

 45. ( C ) ( AB ) 30°    

6 X 60° 

 3 

 

 



81-H 10  CCE PF + PR   

 PF+PR-III-513  

  

  





sin1

)90(cot)90(cosec

)90(sin





 

 

 46. 
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V. 47. 4 2 8 

 4 

 48.  4 
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 49. 

64  4 

 

  10 

1  20   

 50. 2x  – x – 2  = 0  4 
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